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52.A _ Stress in PPPPs ||

The whole question of stress in PPPPs (especially in the short-form) is rather tricky. Below we'll present basic
guidelines. But don'’t worry, if you're lucky enough to take Third-Year Russian, you'll get all the details.

Recall that there are three endings used to form PPPPs: -u(u)-, -éu(n)-, -1-.
1) PPPPs in -H(#)-: Formed from verbs that have ‘a’ in the suffix of the stem.

One absolute rule is that the ‘a’ preceding the n(n) ending is never stressed.:

So, if the stress falls on the “a’ in the stem, it moves back one syllable: mpounTaii+ > mpouAaTannsii. (It doesn’t
matter if the stress is fixed on the 4 in all other forms.) If the stress normally falls before the ‘a’, it remains there
for the PPPP: cnénaii+ > caénannoe.

o

Stem with {A} in Suffix Past Passive Participle
(in various CNGs)
HaIHCA+ HaMACAHHBIH
y6epa+ (e) yOpaHHOMY
MPOYUTALH+ MPOYNTAHHYTO
apecToBa+ apecTOBAaHHBIX
yCIHBITIa+ YCIBITaHHBIMA
MoCIa+ MOCTaHHOE
MPOJATH MpOIaHHBIC

Form the PPPP. Give the short-form feminine.

1. cka3zat 2. cuaénai+ 3. HapHcOBa+ 4. mpoaaTh
> r

5. IoKazar 6. wmazoBa+ (0) 7. mocnmar 8. moammcar

9. 3amepiKar 10. BrIOEpa+ (€) 11. ucoyraii+ 12. apectoBa+
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2) PPPPs in -&u(n)-: Formed from u-stem, e-stem and Consonant Stem Verbs (#B/H).

If there is shifting stress in the present tense, then the stress also shifts in the PPPP (kymii+ > KyjieHHbIH — don’t
forget about mutation!). If stress is fixed on the ending (either on the final vowel of the stem 1/é, or following the
consonant), the ending will be éu(n): stressed final vowel 00BuMHI+ > 00BHHEHHBII; stress following the stem:
npuHéc+ > npuHecéHHbIi. Otherwise, if the stress is fixed a vowel in the stem (not in the suffix), the stress
remains there (00iae+ > 00MAKeEH):

Verbs in A and 1 (ykpag+, moctpur+) have stress on the stem, just as they do in the past tense: ykpaia >
YKPaJeHHbIH, MOCTPATJIA > MOCTPHKEHHASI.

Consonant, U-Stem, Past Passive Participle
E-Stem (in various CNGs)

crpociit CTIIPONICHHBIH

KT+ KYTUICHHBIMH

crac+’ CIIACEHHAA

nepeBea+’ MepeBEAEHHYIO

HCHEK+ UCIIEYEHHBIE

opocu+ OpoOmIeHHAs

moCcTpOn+ MOCTPOSHHBIS

obrae+ 00KeHHOMY

yKpaz+ YKpaJaeHHBIM
gb Form the PPPP. Give the long-form masculine singular nominative
1. ymuBh+ 2. TOIMET+ 3. Hcmék+’ 4. cmpocii+
5. paccTpout+ 6. IIPUTOTOB+ 7. yxpaf+ 8. 3amOmHU+
9. cmac+’ 10. oGune+ 11. mepeBém+’ 12. HaKOpMI+

3) PPPPs in -1-: Formed from ny-stem, p/B/o/u-stem, and Double-Stem Verbs: Hypsono!

This is where things can get really nasty, especially with double-stem verbs. First the easy stuff:

Stems in H keep the stress on the stem:

ONEH+ OJETHIH

Double-stem verbs whose vowel-stems (on the right) end in u (notm+ drink up), bi (3aKpei+) or e (cmé+) keep the
stress on the stem:

[V > 7
{mompii+" / mom+} JOTTUTOMY
{cnoli+" / cmié+} cnéTas
{oTKpOIi+ / OTKPHI+} OTKpBITOC

I ——
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For double-stem verbs with a vowel-stem in s or a, the stress often moves to the prefix, i.e. the same place the
stress falls for non-feminine forms of the past tense:

< > , 14 ¥

{OTHMM+  / OTHSI+} OTHATHIN
- > r

{Haun+" / Haya+} HAuaras

For “triple-stem” verbs, the stress also moves back to where the stress falls for non-feminine past tense forms:

{3amp+ / 3amep+ / samepé+ }

3anepToi

Finally, the very few transitive verbs in Hy never have stress on the my in PPPP. In this respect, Hy stems act like

stems with ‘a’ (see above).

< 4
oOMaHy+ 00OMAaHYThIC
3aBEpHY+ Wrap 3aBEpHTOE

(There are more details—if you can believe it—, which we won’t worry about for now.)

%

1. {cuum+"/ crs} 2.
5. {momoii+ / mompI+} 6.

9. {Hambit+ / HaIIH}

10.

Form the PPPP. Give the Long-Form Masculine Singular Nominative

, > r <
{3amp+" / zamep+/ 3. onéH+ 4. obmany+
3arepé+}

’ > < >
{naun+" / Haua+} 7. HaKoIo+ 8. IeperuibIB+

{Bo3bM+ '/ B3s+ } 11. {3aiim+ / 3ams} 12. {3akpoii+ / 3aKpbI+}

To be honest, even native speakers sometimes have difficulty knowing where the stress belongs in some of these
PPPPs, especially in the short-form.
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52.6 Tense of “Past” Passive Participles ||

As we mentioned in the first lesson on PPPPs, the term “past” may be a bit misleading. Very often a PPPP refers
to a present (or even a future) action. This comes into play most often with the short-form PPPP, where the actual
tense is indicated by the verb be:

Past Present Future
Omna 0bL14 OUeHb paccTpOeHa STHM | OHA OUeHb paccTpOeHA ATHM Ona 0yaeT 0YeHb paccTpOcHa TUM
She was really upset by that She’s really upset by that She will be really upset by that
Harmr mom 6b1 mocTpOeH B 1950 *Ham mom moctpOeH B 1950 Ham mom 6yaeT moctpdeH B 2001
Our house was built in 1950 Our house was built in 1950 Our house will built in 2001

* This sentence actually refers to the past; it does not mean Our house is being built in 1950 — that would not
make sense. So, what’s the difference between this sentence and the one to the left, where the Past Tense 6511
is used? It’s complicated. Wait until third-year.

With long-form PPPPs (in non-predicative position) tense is expressed by the main verb. The fact that a past
passive participle is modifying a noun has no effect on tense.

Ko kymin / mokymnaer / KyIHT YKpaJaeHHEIS Who bought / is buying / will buy the stolen
OpUIMAHTHI? diamond?
S oTKpELIa / OTKPEIBAIO / OTKPOIO 3AIMEPTYIO ABEPb. 1 opened / am opening / will open the locked door.

52.B Passive Sentences Without Obvious Active Counterparts

Up to now we have more or less implied that passive sentences are somehow “derived” from active sentences—
with certain predictable changes (active object becomes passive subject, active subject goes into instrumental in

passive). There exist many passive sentences, however, for which there is no obvious “original” active sentence.
Let’s look at two types.

52.b.1 Passive sentences with clausal complements

Sometimes a transitive verb can take an entire clause (beginning with uro) as a complement: 74ey
decided/determined that... To passivize such sentences, use the short-form neuter third singular PPPP followed
by uto + the clause. In some cases the active sentence contains a subject, which can be expressed in the
instrumental in the passive. Often, however, an “empty” onr-form of the verb is used, in which case no

Iomwmueit ObIT0 yCTaHOBICHO, UTO YOHIIa — It was established by the police that the murderer
OJIOHIUH BBICOKOTO POCTa. is a tall blond man.

HepnarHo OBLTO OOBABICHO, UTO MPE3UACHT MOSHET HA  Recently it was announced that the president will
Kyoy. go to Cuba.
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bruio peimeno, 4ro He KOHIEPT OYIET BTOPOTO UIOHSL It was decided that the concert will be at the new

HAa HOBOM CTaIHOHE. stadium on June 2
bynet obHapykeHO, UTO NEPBBIE TFON HA 3eMJIE It will be discovered that the first people on earth
KUY Ha TeputOpun Kutas. live in what is now China.

Note the following, with a dative indirect object. In fact, 6bLJIo ckd3aHo + dative is a commonly used
construction.

Te6é OBLTO CKA3aHO, UTO 31€Ch HENb3 KYPHUTh. You were told that there’s no smoking here.

52.b.2 Complete “de-focus” on original subject

In other cases, the passive sentence contains absolutely no focus on the “original” subject —either because the
speaker simply doesn’t know, or doesn’t care who performed the action. In the first example below, the speaker
feels no need to mention that certain Japanese car workers built his/her car. It’s obvious that someone built the
car; it’s just not of any concern who it was. In the second example, the speaker probably has no idea who actually
built the church. In the third example, it’s difficult even to image what the exact subject of an active sentence
would be—something like “the shaking”.

Mos ManiiiHa 6bTA cAénana B ANOHUH. My car was made in Japan.
J1a népKroBb OBUTA TOCTpOeHa B 1532 roxy. This church was built in 1532.
WX moM OBLI pa3pyIieH BO BpEMs 3eMIICTPACCHHA. Their house was destroyed during the earthquake.

52. More Practice With PPPPs

As we said in Lesson 47, of the four types of participles, PPPPs are the most commonly found, and therefore
deserve the most attention. Let’s look again at some active sentences and their corresponding passives (if they
exist). Be sure to go over this carefully.

Short Form (No kotopbii in active sentence; PPPP has single ‘H’ or ‘T’)

Active Passive
Bce 3aMérnnm 3TOro CTpAHHOTO YeOBEKA. DTOT CTPAHHBIN YETOBEK OBLT 3aMEUYCH BCEMHU.
Everyone noticed that strange person. That strange person was noticed by everyone.
Marnra ucupaBuT OIMHOKY. Onmibka 6yJer ucnpasieHa Mamnreii.
Masha corrected the mistake. The mistake was corrected by Masha.
Hiina nmpuBe3na MANTYITYI0 MAIIHHKY. [IAmynias ManmiHKa OblIA IpuBe3eHa HitHOM.
Nina brought the typewriter. The typewriter was brought by Nina.
Kapry nopécuin Ha CT¢HY . Kapra Ob114 moBéIieHa Ha CTEHY.
(They) hung the map on the wall. The map was hung on the wall.
Kocts momor 6éaqaomy mpodéccopy. N/A (momor takes dative)
Kostya helped the poor professor.
Ero 6abymka ymepna B IpOIIIOM TOIY. N/A (ymepna is intransitive)
His grandmother died last year.
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Long Form (Accusative koTopbi# in active sentence; PPPP has double ‘HH’ or single ‘T’)

Active

Passive

S B BocTOpre ot priIbMa, KOTOPEIH CHAT béprman.
I'm crazy about the movie which Berman made.

A B BocTOpre 0T (PHIBMa, CHATOro béprmMaHoM.
I'm crazy about the movie which was made by Bergman.

TsI 3HACIIB AEBYMIKY, KOTOPYIO 00MaHy1 MuTa?
Do you know the young woman whom Mita deceived?

TrI 3HACIIE 0OMAHYTYIO MHATEH A¢BYMIKY?
Do you know the young woman who was deceived by Mitya?

Mp&I TOBOpHIH O KapTUHE, KOTOPYIO Hapucosan Koms.

We were talking about the picture which Kolya drew.

Mg&1 roBopiu 0 HapucOBaHHOM Konei kapTiHe.
We were talking about the picture which was drawn by
Kolya.

S cunéna psiom ¢ ceHATOpPOM, KOTOPOTO MPepBaT
MIPe3UACHT.

I was sitting next to the senator whom the president
interrupted.

A cunéna psamoM ¢ CeHATOPOM, IPEPBAHHBIM
MPe3UIEHTOM.

I was sitting next to the senator who was interrupted by the
president.

Ha yriy cTouTt uenoBek, KOTOpPOTo Bce OOsITCA.

On the corner is standing the person whom everyone fears.

N/A (bosites is intransitive; here kotoporo is actually
in genitive)

S He yBaXkar0 UEIIOBEKA, 32 KOTOPOT'O BEI TOJIOCOBAJIH.

Idon’t respect the man for whom you voted.

N/A (Kotoporo is accusative, but is in a prepositional
phrase following 3a.)

gb Passivize the sentences, when possible

[prinsmu PeOekKy B MEAUIIMHCKAN KOIIETK.

Bawm ckazanu, 4To TaM OIIACHO XOJHUTD.

S o

S He Mory HaliTh OyMATH, KOTOPBIE OHA 3aMOHIIIA.

OHM HaKOHEI] HATTUTA OPUJLTHATHBI, KOTOPBIC YKPAT MOH SIS
31meck He XBaTACT JIFONEH, KOTOPhIe TOBOPAT TTO-HEMETIKH.

Tel HOMHUIIB AEBYIKY, KOTOPYIO MBI IPUTIACAIN HA BEUCPUHKY?

TrI 3HAKOM C UEIIOBEKOM, KOTOPOTO Ha THAX OOBUHIIHN B KPAXKe MAITHHBI?

OHM CIIIETHUYAIOT O TTApHE, KOTOPOTO BCE 3aITO3A0OPHITH.

9. S B BoctoOpre ot x1é06a, KOTOPHIM NCKEKIN B 3TOU OYIOUHOM.

10. Cama 64eHb paccepIyics Ha JKEHY.

11. Yro ThI 3HAETTH O KAPTUHE, KOTOPYIO HANIUIA B TIO/[BATC?

12. OOBaBIAIH, YTO TPE3UIEHT MOEICT Ha ATISICKY.
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52.B

PPPPs: Text — Part 2 (O moém 6éaHom asige) ||

(Be sure to go back and look at the first part of the story in Lesson 47.)

1

%

B MaraziHe Hamuy 3amicKy, HAMCAaHHYIO BOPOM, 1 OBLIO YCTAHOBJIEHO, UTO 3TO MOUepK Moero ainu. Ha

2 OCTABIIEHHOW OYTBIIKE MHBA, BRIMUTOM MPECTYITHUKOM, OBUTH HAMICHB OTHCYATKH HANBLIIEB MOETO JIS/TH.
3 He nomHus o0 601B010M yCTiéXe, JOCTUTHYTOM MOUM JISJICH, JIFOMU HEe TOBOPAT O AETAX, 3AUINEHHBIX UM OT
4 361X c00aK. KTo Ternéph roBOpUT 00 HeNMeYéHHOM UM Uit 0€nHbIX xinébe? Hukto. U HUKTO HE TOMHUT
5 JIUCCEPTAITHIO, 3aKOHUCHHYIO0 MOUM JIsifieH, KOr/Ia eMy OBIIO TOIBKO MECTHAIATE JJeT. Becem Hajpoéno
6  TOBOPUTH O JIOPOTHX MOJIAPKaX, MPUBE3EHHBIX UM n3 Opannun ans geréit. KTo Tenéph 4uTaeT cTaThi,
7  mepeBeJéHHBIEC UM ¢ HEMEIKOTO Ha pycckuii? Bce TOMBKO CITIETHUYAIOT O CIIOHAX, CIYYAHHO YOUTHIX UM
8 JECATh MeT Ha3a . OH OueHb YIUBIEH U PaccTPOeH BCEM 3THM.
CnoBapb
1 |3amc/ka (0) note
1 [BOp thief
1 |ycTaHoBH+ establish
2 | oTmeuat/ka (0) MATBIICB finger prints

nanertr (e) (Other forms begin naneii-)
3 | 3amrumaii+ // 3amuTi+ (T > 1) defend

nék+ ~ // uc-

bake (We saw this verb before, but never with the
perfective prefix mc-.)

nepeBoitt // mepeBén+ ¢ [genitive] Ha [accusative]

translate from one language(c +genitive) to another (Ha
+ accusative)

paccTpauBaii+ / paccTpOm+

upset someone
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,gg YnpaxHéHue 1 Translate the text into natural sounding English

,gg YnpaxHéHue 2 Form a PPPP, when possible. Use any CNG you wish

1. oOBuHK+ 2. cioman+
3. u3MeHu+ 4. mnepeBés+’
5. {cHEM+" / CHSH} 6. obne+
7. OléH+ 8. Hameuaraii+
9. ocraBu+ 10. {mbit+ / o}
2 YnpaxHéHue 3 Select the correct Gerund or Participle Form.
1) OH cujiéJ1 Ha JUBAaHE, 0 cBOEM HOCeE.
a) Mo AyMAaBIIIH 0) mymas B) IyMaB T) TyMAFOITHIT
2) S Buepa man NEHBTH HaM OHUIET Ha OTIepy YSTOBEKY.
a) IOAAPUBIIIHIA 0) ImomapHUBIIEMY B) IIOJapUB T) JapsIeMy

3)  Bépa ynuia, HukéM He

a) 3aMEéueHHad 0) 3aMéTUB B) 3aMevAaomasn T) 3aMedas
4) IIpunércs cromats JIBEPh

a) 3amepra 0) zamepTy B) 3amepras T) 3aMepTYIO
5) 5l He 3HAKOM C MYKYHHOI, Ha OapalaHe.

a) Urpad 0) UTpaIomIHid B) HTPABIINM T) HI'PaB
6)  MpsI OpITH 3THM CIIOHOM.

a) crac€Hble 0) cmacarorme B) CIIaCABIIH T) CIIaceHEI
7)  Uto THI 3HACIIH O CTY/AEHTAX, 3Ty cTaThio?

a) YUTABIIIHE 0) unTas B) IIPOYHUTaHHYIO T) YHTAFOIINIX

52-8



